

ON A RESULT OF LEINDLER

R. N. MOHAPATRA AND F. L. SALZMAN

(communicated by L. Leindler)

Abstract. In this paper we give an alternative proof of a result of Leindler on Hardy type inequalities. This method can also be used to obtain alternative and simpler proofs of other results.

1. Introduction

In [2] Hardy and Littlewood proved the following:

THEOREM A [2]. *If $a_n \geq 0, n = 1, 2, \dots$, then we have the following:*

$$\sum_{n=1}^{\infty} n^{-c} \left(\sum_{k=1}^n a_k \right)^p \leq K \sum_{n=1}^{\infty} n^{-c(1-p)} a_n^p \left(\sum_{k=n}^{\infty} k^{-c} \right)^p \quad (c > 1, p \geq 1); \quad (1)$$

$$\sum_{n=1}^{\infty} n^{-c} \left(\sum_{k=n}^{\infty} a_k \right)^p \leq K \sum_{n=1}^{\infty} n^{-c(1-p)} a_n^p \left(\sum_{k=1}^n n^{-c} \right)^p \quad (c > 1, p \geq 1); \quad (2)$$

$$\sum_{n=1}^{\infty} n^{-c(1-p)} a_n^p \left(\sum_{k=n}^{\infty} n^{-c} \right)^p \leq K \sum_{n=1}^{\infty} n^{-c} \left(\sum_{k=1}^n a_k \right)^p \quad (c > 1, 0 < p \leq 1); \quad (3)$$

$$\sum_{n=1}^{\infty} n^{-c(1-p)} a_n^p \left(\sum_{k=1}^n n^{-c} \right)^p \leq K \sum_{n=1}^{\infty} n^{-c} \left(\sum_{k=n}^{\infty} a_k \right)^p \quad (c > 1, 0 < p \leq 1). \quad (4)$$

Theorem A was generalized by Leindler [4] where he obtained analogues of (1), (2), (3), and (4). In a subsequent paper, Leindler [5] improved the inequalities and showed that, in (1) and (2), the constant $K = p^p$ was best possible.

Before we state the theorems of Leindler, we introduce the following notations: for given sequences $\{a_n\}$ and $\{\lambda_n\}$, we denote A_{mn} and Λ_{mn} by

$$A_{mn} = \sum_{i=m}^n a_i \quad \text{and} \quad \Lambda_{mn} = \sum_{i=m}^n \lambda_i \quad (1 \leq m \leq n < \infty).$$

Mathematics subject classification (2000): 26D15, 42A20.

Key words and phrases: Hardy's type inequalities, sequences, series.

THEOREM B [4]. Let $a_n \geq 0$ and $\lambda_n \geq 0 (n = 1, 2, \dots)$ be given. Let $v_1 < v_2 < \dots < v_n < \dots$ denotes indices for which $\lambda_{v_n} > 0, n = 1, 2, \dots$. Let N be the number of positive terms of the sequence $\{\lambda_n\}$, provided this number is finite, in the contrary case set $N = \infty$. Set $v_0 = 0$, and if $N < \infty$ then $v_{N+1} = \infty$. Then we have the following inequalities

$$\sum_{n=1}^{\infty} \lambda_n A_{1,n}^p \leq p^p \sum_{n=1}^N \lambda_{v_n, \infty}^p A_{v_{n-1}+1, v_n}, \quad p \geq 1; \quad (5)$$

$$\sum_{n=1}^{\infty} \lambda_n A_{n, \infty}^p \leq p^p \sum_{n=1}^N \lambda_{v_n}^{1-p} \Lambda_{1, v_n}^p A_{v_n, v_{n+1}-1}, \quad p \geq 1; \quad (6)$$

$$\sum_{n=1}^N \lambda_{v_n}^{1-p} \Lambda_{v_n, \infty}^p A_{v_{n-1}+1, v_n} \leq 8 \sum_{n=1}^{\infty} \lambda_n A_{1,n}^p, \quad 0 < p \leq 1; \quad (7)$$

$$\sum_{n=1}^N \lambda_{v_n}^{1-p} \Lambda_{1, v_n}^p A_{v_n, v_{n+1}} \leq 9 \sum_{n=1}^{\infty} \lambda_n A_{n, \infty}^p, \quad 0 < p \leq 1. \quad (8)$$

The constants p^p is best possible for (5) and (6).

In [5] Leindler showed that the inequalities (7) and (8) can be improved. Precisely, he proved:

THEOREM C [5]. Under the assumptions of Theorem B the opposite inequalities of (5) and (6) hold for $0 < p \leq 1$, and the constant p^p is also best possible in this case.

Theorem B and Theorem C imply the following:

COROLLARY. If $\lambda_n > 0$ and $a_n \geq 0$, then the following hold:

$$\sum_{n=1}^{\infty} \lambda_n \left(\sum_{k=1}^n a_k \right)^p \leq p^p \sum_{n=1}^{\infty} \lambda_n^{1-p} a_n^p \left(\sum_{k=n}^{\infty} \lambda_k \right)^p, \quad p \geq 1; \quad (9)$$

$$\sum_{n=1}^{\infty} \lambda_n \left(\sum_{k=n}^{\infty} a_k \right)^p \leq p^p \sum_{n=1}^{\infty} \lambda_n^{1-p} a_n^p \left(\sum_{k=1}^n \lambda_k \right)^p, \quad p \geq 1. \quad (10)$$

If $0 < p < 1$ the sign of the inequalities are reversed. All constants are best possible.

The main goal of this paper is to provide an alternative proof of Theorem C. In fact, we shall prove the following theorem which is the result of Leindler [4] and [5].

THEOREM 1. Under the conditions of Theorem B, inequalities (5) and (6) hold when $p \geq 1$. If $0 < p \leq 1$ the sign of the inequalities in (5) and (6) are reversed.

2. Proof of the Theorem

We need the following lemmas for the proof.

LEMMA 1. (see [1] Lemma 1, and [3] Lemma 5.1). *If $p > 1$ and $z_n \geq 0$, $n = 1, 2, \dots$, then*

$$\left(\sum_{k=1}^n z_k \right)^p \leq p \sum_{k=1}^n z_k \left(\sum_{j=1}^k z_j \right)^{p-1}. \quad (11)$$

If $0 < p \leq 1$, the sign of the inequality is reversed.

LEMMA 2 [7]. *If $p > 1$ and $z_n \geq 0$, $n = 1, 2, \dots$, then for every natural number $m > n$,*

$$\left(\sum_{k=n}^m z_k \right)^p \leq p \sum_{k=n}^m z_k \left(\sum_{j=k}^m z_j \right)^{p-1}. \quad (12)$$

If $0 < p \leq 1$, the sign of the inequality is reversed.

Proof of Theorem 1. Let $0 < p \leq 1$. First we shall prove

$$\sum_{n=1}^{\infty} \lambda_n A_{1n}^p \geq p^p \sum_{n=1}^N \lambda_{v_n}^{1-p} \Lambda_{v_n, \infty} A_{v_{n-1}+1, v_n}^p. \quad (13)$$

For $p = 1$, both sides of (13) are equal as can be seen from changing the order of summation. If $0 < p < 1$, we follow Leindler [5] and set the following notations:

$$\alpha_n := A_{v_{n-1}+1, v_n}, \quad \beta_0 = 0, \quad \beta_n := \sum_{k=1}^n \alpha_k, \quad \delta_n := \lambda_{v_n},$$

and $R_n := \Lambda_{v_n, \infty}$ for every n in $1 \leq n \leq N$. If $N < \infty$, then let $R_{N+1} := \delta_{N+1} = 0$.

For any positive integer $m, m \leq N$, we have

$$\sum_{k=1}^{v_m} \lambda_k \left(\sum_{i=1}^k a_i \right)^p = \sum_{n=1}^m \lambda_{v_n} \left(\sum_{k=1}^n \alpha_k \right)^p = \sum_{n=1}^m \delta_n (\beta_n)^p. \quad (14)$$

Using Lemma 1 for $0 < p < 1$, we have

$$\begin{aligned} \sum_{n=1}^m \delta_n (\beta_n)^p &= \sum_{n=1}^m \delta_n \left(\sum_{k=1}^n \alpha_k \right)^p \geq p \sum_{n=1}^m \delta_n \sum_{k=1}^n \alpha_k \left(\sum_{j=1}^k \alpha_j \right)^{p-1} \\ &= p \sum_{n=1}^m \delta_n \sum_{k=1}^n \alpha_k (\beta_k)^{p-1} \\ &= p \sum_{k=1}^m \alpha_k (\beta_k)^{p-1} \sum_{n=k}^m \delta_n. \end{aligned}$$

Multiplying and dividing by $\delta_k^{\frac{1}{p}-1}$ and using Hölder inequality for $0 < p < 1$, we get for $\frac{1}{p} + \frac{1}{p'} = 1$,

$$\sum_{n=1}^m \delta_n (\beta_n)^p \geq p \left(\sum_{k=1}^m \alpha_k^p \delta_k^{1-p} \left(\sum_{n=k}^m \delta_n \right)^p \right)^{1/p} \left(\sum_{k=1}^m \delta_k (\beta_k)^p \right)^{1/q}. \quad (15)$$

We divide both sides by the second factor on the right side of (15) to get

$$\left(\sum_{n=1}^m \delta_n (\beta_n)^p \right)^{1/p} \geq p \left(\sum_{k=1}^m \alpha_k^p \delta_k^{1-p} \left(\sum_{n=k}^m \delta_n \right)^p \right)^{1/p} 1/p. \quad (16)$$

Substituting the expressions for δ_n , β_n and α_n , we see that the opposite of inequality (5) holds.

Note that if the second factor on the right of (15) is zero, then the result obviously holds.

To prove inequality (5) one can follow the same reasoning and use (11) and Hölder inequality for $p > 1$.

To prove the opposite of inequality (6), i.e.,

$$\sum_{n=1}^{\infty} \lambda_n A_{n,\infty}^p \geq p^p \sum_{n=1}^N \lambda_{v_n}^{1-p} \Lambda_{1,v_n}^p A_{v_n, v_{n+1}-1}^p$$

we define (as in Leindler [5])

$$\alpha_n^* := A_{v_n, v_{n+1}-1}, \quad \gamma_n := \sum_{k=n}^N \alpha_k^* \quad \text{and} \quad \Lambda_{1, v_n} = \sum_{k=1}^n \delta_k.$$

Using the case $0 < p < 1$ of Lemma 2 and following the method of proof given above, we can prove the opposite of inequality (6). Inequality (6) is obtained in the same manner when we use (12) and Hölder inequality for $p > 1$, appropriately.

REMARK. The advantage of our method of proof is that it unifies the method of proof for $p > 1$ and $0 < p < 1$, an important result of Leindler, and can be used to prove similar inequalities.

REFERENCES

- [1] DAVIES, G. S. AND PETERSEN, G. M., *On an inequality of Hardy's (II)*, Quart. J. Math. (Oxford), **15** (1964), 35–40.
- [2] HARDY, G. H. AND LITTLEWOOD, J. E., *Elementary theorems concerning power series with positive coefficients and moment constant of positive functions*, J. Reine Angew. Math., **157** (1927), 141–158.
- [3] JOHNSON, JR., P. D. AND MOHAPATRA, R. N., *Inequalities involving lower-triangular matrices*, Proc. London Math. Soc., **41** (1980), 83–137.
- [4] LEINDLER, L., *Generalization of inequalities of Hardy and Littlewood*, Acta Sci. Math. (Szeged), **31** (1970), 279–285.

- [5] LEINDLER, L., *Further sharpening of inequalities of Hardy and Littlewood*, Acta Sci. Math. (Szeged), **54** (1990), 285–289.
- [6] LEINDLER, L., *Some inequalities of Hardy-Littlewood type*, Analysis Mathematica, **20** (1994), 95–106.
- [7] NÉMETH, JÓZSEF, *Generalization of the Hardy-Littlewood inequality*, Acta Sci. Math. (Szeged), **32** (1971), 295–299.

(Received May 22, 2001)

R. N. Mohapatra
Dept. of Mathematics
University of Central Florida
P.O. Box 161364
Orlando, Florida 32816-1364
e-mail: ramm@pegasus.cc.ucf.edu

F. L. Salzman
Dept. of Mathematics
University of Central Florida
P.O. Box 161364
Orlando, Florida 32816-1364
e-mail: salzmann@pegasus.ucf.edu